Example 8:

e

Steps

Solve the Equation Vx +4 =2+ Vx

1. Isolate a radical
(have a radical on each side of the equation)

VX + 4 =2+ VJx

2: Square both sides of the equation.

Write out the binomial twice and multiply

(Vx78) =(2+ V%)’
x+4=z(2+Vx)(2+Vx)
x+4z4+2Jx+2Vx+ (Vx)°
Xx+4z4+4/x+X

3: Isolate the second remaining radical 0 = 4Vx

4. Reduce the coefficients 0 = Vx

5. Square both sides (0)% = (Vx)°

6: Solve for the variable 0=x

7. Verify the answer (check) Vx+4=2+ Vx
JO +4=2+0
Vi =240
2=2

8. Solution set {0}

Example 9: Solve the EquationV2x+7 =1+ Vx + 3

{

Py

Steps

1. Isolate aradical
(have a radical on each side of the equation)

Vv2x+7=1+ vx+3

2: Square both sides of the equation.

Write out the binomial twice and multiply

(Vzx+7) =(1+ vx+3)°
2x+7=(1+vVx+3)(1+Vx+ 3)
2x+7=1+Vx+3+Vx+3 +(Vx + 3)2
2X+7=1+2Vx+3+x+3

3: Isolate the second remaining radical

X+3=2vVx+3

-

Reduce the coefficients by their GCF

GCF = 1, therefore cannot reduce

5: Square both sides

(x +3)% = (2Vx + 3)
X° + 6X +9 = 4(x + 3)

6: Solve for the vumub@o B\

X°+6x+9=4x+ 12

NOesa K2+2){—3=0
o 11O 6 ok © (x +3)(x - 1) =
eV Pag Xx+3=0 x-1=0
X=-3 X =1
7. Verify the answer (check) Vix+7 =1+ vx+3 V2x+7 =1+ Vx+3
V2-3)+7=1+V=3%3 | 2D+ 7=1+ViT3
ﬁ=1+xfﬁ ﬁ:]—}-ﬁ
= 3
' 8: Solution set {-3, 1}

If you wish here is another solving video: Solving double radical equations ex 2




